SET-A

PART - 1 (Teaching Ability, Reasoning and General Knowledge)
T - 1 (s afah, seafa o amm s)
(Question Number 1 to 100) / (J59 =T 1 & 100 TF)

Teacher uses visual-aids to make learning—
(A) Simple

(B) Quicker

(C) More knowledge

(D) Interesting

The most important cause of failure of

teacher lies in the area of—

(A) Interpersonal relationship

(B) Verbal ability

(C) Lack of command over the knowledge
of the subject

(D) None of these

Which is the least important factor in
teaching—

(A) Punishing the students

(B) Maintaining discipline in the class

(C) Lecturing in impressive way

(D) None of these

For showing the model in the teaching of a
topic teacher should—

(A) Keep showing throughout the lecture
(B) Stand in front of the model

(C) Show model when need arises

(D) None of these

Who wrote “Indica’—
(A) Kalidasa
(C) Magasthenese

(B) Kautilya
(D) None of them

Who is appointed as the speaker of 16th Lok
Sabha ?

(A) Arun Jaitly

(B) Sumitra Mahajan

(C) Sushma Swaraj

(D) Govind Singh Kunjwal

1,

FEAUH 9T EA B TGN AT H
ffefad 599 & oo o &—

(A) T

(B) 999 T & fom

(C) otf® 79 & faw

(D) &1 g9+ % forg

(A) IS graeer

(B) a1 qereln

(C) fawg &% Fw ward =1 7 81
(D) ST H g T8

ST § 998 SE99E HHEE HiA 5—
(A) BT & &08 37

(B) &l H§ I T

(C) THTESTAT &M § WA 347

(D) SUET | FHig A6

4t T8 & 3T § AiEd & oW b 99g
f3TeT &7 T FMET—

(A) 3T GF F 209 SMEN R e
(B) qfzd@ & §WA @3 AT 912U

(C) ymasgsdar 29 97 fe@rr =fe

(D) 3% & H1E TE

=fUzdr T T@H B G-
(A) FrelreT (B) @mifeem
(C) Arerat (D) =7 & g TE

1647 AT & Teme & &7 ° 6

frar T % 2 e
(A) 3BT A2

(B) gftrm Hem

(C) guaT @

(D) Mfa= s FHwama
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10.

11.

12.

14.

Annual Ratha Yatra of Lord Jagannath takes
place in which of the following state ?

(A) Tamilnadu (B) Karnataka

(C) Himachal Pradesh (D) Odisha

Who is appointed as the arbitrator in
Vodafone tax dispute case ?

(A) Ashok Chawala (B) R. C. Lahoti

(C) K. K. Malhotra (D) M. B. Shah

An example of audio-visual media is—
(A) Charts (B) Television
(C) Radio (D) Models

An example of maturation is when a child
learns to—
(A) Walk
(C) Read

(B) Draw
(D) Ride a bicycle

Which of the following is not a domain of
learning—

(A) Cognitive
(C) Conative

(B) Affective
(D) Spiritual

Ram returned the pencil, he took from Seeta’s
desk because he was afraid of punishment,
ifhe got caught. This illustrates Kohlberg's—
(A) Pre-conventional level

(B) Conventional level

(C) Post-conventional level

(D) None of these

‘Konkan Rail’ directly connects—
(A) Delhi to Chennai

(B) Dehradun to Tanakpur

(C) Jammu to Kanyakumari

(D) None of these

“Operation Black Board” was the outcome of—

(A) Kothari Commission

(B) National Curriculam Framework - 2005
(NCF - 2005)

(C) National Policy on Education - 1986
(NPE - 1986)

(D) National Curriculam Framework - 2000

(NCF - 2000)

10.

11.

12.

14.

SET-A
mﬂmawzﬁrznﬁzmz[wﬁwﬁiﬁaﬁ
= & § red g Bl e—

(A) FfEAE (B) ®fe®

(C) femmam oW (D) SEm™
AeEE A & AHE § qere $ w9 ¥ 5
frgea T T & 2 _
(A) aigiis "@em (B) AR 9L @EE
(C)&. & e (D) TH. d1. qE
399~ HTEAR &l TEETT 8—

(A) 9 (B) i

(C) ¥=ar (D) Hiza

3

(A) T&T (B) fa=ies &
(C) g (D) @reihe Iar

7 § § 20 &1 uF A @ ey e
B

(A) GIFHS (B) HETES

(C) terarer: (D) smemfos

TH A a1 & S 4 T g U arug @ @
HIE 59 THe A I T B F5 =oan)
TE FEET B (HH W F g46T & 7

(A) TE-9T R =X

(B) T ®W

(C) ST-ITITE &R

(D) e99 & %1% TE

(A) Rl it o= &

(B) &UGH 3 TTEHY &

(C) 7 IR FHATHAL &

(D) &9 § #E 7E

“HTRY s G2 giom ar—

(A) TSI ST &

(B) UG 9IZgsE @A - 2005

(C) T Siftrss 1w - 1986

(D) U< UrgaEEd @A - 2000
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15,

16.

17.

18.

19,

20.

21.

22.

Rural Development Minister Nitin Gadkari
launched the Shyama Prasad Mukherjee
National Rural Mission on ....... with an
allocation of 100 crore rupees.

(A) PPP model

(B) PTP model

(C) VTZ model

(D) STS model

Who is the Army Chief of India—
(A) Vikram Singh

(B) B. S. Chauhan

(C) D.K. Jain

(D) Dalbir Singh Suhag

When is Anti-Terrorism Day observed ?
(A) 20 May (B) 23 May
(C) 22 May (D) 21 May

The Education Minister of Uttarakhand is—
(A) Harish Rawat

(B) Dinesh Agarwal

(C) Mantri Prasad Naithani

(D) Preetam Singh

Project teaching method is associated with—
(A) Frobel (B) John Dewey
(C) Armstrong (D) None of these

When the child is ready to learn, he learns
more quickly and effectively. This principle
was given by—
(A) Thorndike
(C) Pavlov

(B) Skinner
(D) None of these

A teacher in a classroom should act as a—
(A) Progressive role (B) Boss role
(C) Democratic role (D) None of these

The objective of teaching is to—

(A) Create good citizens

(B) Create persons who are useful for the
society

(C) Create socialistic persons

(D) All the above

16.

17.

18.

.

20.

21.

22.

. rfor Frare =t Bl TeEh Y

FAYR 97 100 FUT T F @A & °

SATAT YATE S T U {7 7 90
ferar |

(A) fidrdr. "=

(B) 9r.87.41. qfza

(C) dra1 5=, or=d

(D) mg.21.09. Hi=q

(A) Ferm s
(B) d1. ug, dr™
(C) 8. F. 9
(D) =wER foe gem

(A) 20 5E (B) 23 W&
(C) 22 5 (D) 21 12

TEvE & fomn 9=h g
(A) &lis1 T

(B) feaer s

(C) w=it vareg gt

(D) e foz

g freor faftr e st 2
(A) H1ga (B) W19 i
(C) = (D) T § F15 =

wa g dEy & e Jar B B =
FesT 7 FrEee gid g drEm g1 e fu
e giaafes fan ¢
(A) g2 &R
(C) yrgata 21

(B) R g
(D) = 4 &g -

weg f3rerE F7 we § o w5 g
(A) wiasi=r Sfwar & (B) §t9 31 4f
(C) vt g § (D) 39 & i

farem 1 IRy B

(A) 3BT ATTHE 9T

(B) U8 afeal & o St o @
(C) =xaetiiaar 1 Fmfr w5

(D) TaT T4
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23,

24.

25.

26.

27.

28.

29.

30.

How many individuals were awarded the

" 2014 Raman Magsaysay Award 7

(A) Five
(C) Four

(B) Six
(D) None of these

World Elephant Day was observed across the
world on which day ?
(A) 11 August
(C) 12 August

(B) 19 July
{D) 10 July

An effective teacher is one who can—
(A) Control the class

(B) Give more information in less time
(C) Motivate students to learn

(D) None of the above

The FIBA Asian cup is associated with which
among the following sports ?

(A) Table Tennis (B) Hockey

(C) Football (D) Basketball

Whilie teaching a theoretical topic in the class,
teacher should proceed from—

(A) Unknown to known

(B) Concrete to abstract

(C) Reasoning to observation

(D) None of these

A teacher can minimize depression among
students by—

(A) trying to understand its causes

(B) motivating the students

(Ci AandB

(D) reporting to Principal .

Microteaching is most effective for the
students—

(A) During the practice teaching

(B) After the practice teaching

(C) Beiore the practice teaching

(D) None of the above

Value education makes a student—
(A) Doctor (B) Good citizen
(C) Engineer (D) None of these

24.

25.

26.

28.

29,

30.

SET-A
forae eafeaal &0 2014 T TR QTR 9
i fear mar & 7

(A) W= (B) &

(€) =m (D) T & FE 7@
faga e Raw gfvar w4 few Ra w3
AT R 2

(A) 11 T (B) 19 S

(C) 12 FTET (D) 10

(A) Fer ) g

(B) ®H gHT | afas I o
(C) Faenfeai & 9rEq & fog sifRa &
(D) 399 | Fig &

FIBA ofraré u Freffad @il & 4 e

(A) 2= 2fFE (B) g
(C) wearm (D) SrEEaTs
. FE U s fQwa e & o e
1 f= #9 F werr afeu—
(A) 339 ¥ 719
(B) 3= & HRIS
(C) 7% & e
D) T8 § FE TE
T gFAT B
(A) T8F FRO I GHFS & BT H
(B) B731 ® WieaE &
(C) A IR B
(D) var=rEd &t g

TEY FHTILE e B—

(A) farerr eramg & SR

(B) farerr o & 9@

(C) farerer v | Ul

(D) 3wl § FE 7
aeqemenia freT BT @ e A e
(A) BfFT (B) 311 A&
(C) arforg=a (D) 3 & #E &
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31.

32.

33

34.

39,

36.

.

38.

39,

District Primary Education Programme
(DPEP) was launched in the year—

(A) 1986 (B) 1984

(C) 2001 (D) None of these

How many gold medals were cinched by India
in 2014 Glasgow Commonwealth Games—
(A) 10 (B) 12
(C) 14 (D) 15

In a lively classroom situation, there is likely
to be—

(A) Occasional roars of laughter

(B) Complete silence

(C) Frequent teacher-student dialogue

(D) Loud discussion

In your view, teaching is—
(A) An Art (B) A Skill
(C)A&B (D) None of these

Area of individual differences is—
(A) Gender-difference (B) Body structure
(C) Mental abilities (D) All the above

A child who behaves against the social rules
and regulations is called—

(A) Delinquent child (B) Idiot child

(C) Dull child (D) None of these

Kumar Sangakk-ra (Cricket player) belongsto
which country ?

(A) India (R) Sri Lanka

(C) Pakistan (D) Austraha

For the students of 3rd class, which will be
the best way for teaching ?

(A) Lecture Method

(B) Creational Activities

{C) Group Discussion

(D) Laboratory Method

The academic performance of students can
be improved if parents are encouraged to—
(A) Supervise the work of their wards

(B) Arrange for extra tuition

(C) Remain unconcerned about it

31.

32.

33

34.

35.

37.

38.

39.

(D) None of these

SET-A

T YT
(A) 1986 (B) 1984
(C) 2001 (D) T4 & #1E F&

2014 TG TEAvE @l ¥ WRA 7 fhe
ol e -
(A) 10

(C) 14 (D) 15
%Wwﬁaﬁﬁﬁwﬁ#@aﬁ%ml
e genfag 32—

(A) T TR &G &1 <R
(B)g“fw@rsnﬁa

(C) Ts1grer-81 amaf

(D) feraifi & S @ w2

Y% AN, fareror &

(A) TH el (B) UF et

(C) A SR BIE (D) oW & &8 Tl
(A) fofm 9 (B) 9 @

(C) Ay draart (D) o3 a4

aT ATAE el e—

(A) ST At (B) wizgf& ae@
(C) w=gfs & (D) &4 & B T
FAR TN 5T ¥ & Prde st B
(A) Ra (B) Haa

(C) urferem= (D) sirefaar

(B) 12

s
i

Tl - i & faenidfat & forg fos & & -
foreror 1 W a1 Al BT

(A) @ faiy

(B) ForoTaE R ey

(C) ¢ Frafard

(D) waremer fafr

ferenfeial & st FeEs @ guw
AT & afe fmast # gwted fear o
(A) T=af & F19 @ fdem F0 & oo
(B) 31t g™ & &9 & & forw
(C) z0a an ¥ [ifta 7 29 & fomg
(D) T4 & T &
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40.

41.

42.

43.

44.

45.

46.

If 2 student often comes late in the class you
would-—

(A) Talk to his parents

(B) Complain to Principal about him

(C) Punish him severely

(D) Find the reason and then decide accordingly

A school girl developed ihie habit of dropping
the coat on the floor. Mother asked the girl
to get out of the room and hang up the coat
on the peg. The girl enters house keeps coat
on, approaches closet, hangs up the coat on
the peg. It is an example of—

(A) Chain learning

(B) Stimulus response learning

(C) Concept learning

(D) All the above

A process in which an individual learns new
responses by observing the behaviour of another
rather than through experience is known as—
(A) General Learning

(B) Social Learning

(C) Experimental Learning

(D) None of these

A provision for education for the children
with disabilities can be made through—
(A) Integration

(B) Main streaming

(C) Inclusive education

(D) None of these

For primary school children, which of the
following is better ?

(A) Video simulation

(B) Hands on experiences

(C) Experimental

(D) None of these

‘Toy age’ refers to—
(A) Early childhood (B) Babyhood

(C)A&B (D) Late childhood
Tobacco addiction is due to—

(A) Cocaine (R) Caffeine

(C) Nicotine (D) None of these

SET-A
40. FF HEl § UF BE @ WA Faw ¥ oW
'q'l'.._
(A) TEF SFTIEE] § a0 B
(B) yerrrEd & wEe fyemaa Fr
(C) 35 o1 T A .
(D) TR & AFF TEIR F0g W

41. U THA T AT FeH A B W BT GebA
1 e I Wl € | TEd! & HI 7 3G9 Fel {6
FHL & GBS AW FE E G W AN |
TEE I 91 6T H WA FE! 8, T B B
T TEE ATAR I @6 A1 & HIE b Gl
9T IR AT ¥ | I8 e B
(A) FJEarE e &

(B) SEiuA siferar sifermy &
(C) 9=1g ey &1
(D) = |t

42. fora wiear | =afem @l & @ger & 2Ea
digdl & 7 & yaw ogwa |, & we
3
(A) 5T IIfenmy
(B) arfore siferm
(C) it tferm
(D) 34 & F1E &
43. Fgr qrernt @ f3ven & o grae fvan o
T &—
(A) FHTHTT ZT
(B) 9&7 910 ¥ Tian
(C) gamafy fomm zm
(D) = | FIE &

44, mﬁmﬁwimﬁqn%ﬁf
TER HEA & 7
(A)ﬁ%a?mgm
(B) &4 & zrr e awe
(C) varmes
(D) =99 | F1F &

45. ‘fawil # Sy wEr s i
(A) 9d greamawer  (B) Srgmmaen

(C) A 3R B g (D) Tt arearaes

46. T F AT Y By B—
(A) TN (B) #w

(C) farifes (D) ¥ § #7E T
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47.

48.

49.

50.

al.

52

53,

5.

What is the minimum age for marriage of
boys and girls in India ?

(A) 21 years and 18 years

(B) 18 years and 21 years

(C) 18 years and 20 years

(D) None of these

Break down in verbal communication is
described as—

{A) Short circuit
(C) Unevenness

(B) Contradiction
(D) Entropy

Photographs are not easy to—
(A) Publish (B) Secure
(C) Decode (D) None of these

The National Disaster Management Authority
functions under the Union Ministry of—
{A) Home affairs  (B) Water Resources
(C) Defence (D) None of these

Which one of the following is the best
method of teaching ?
(A) Lecture

(C) Discussion

(B) Demonstration
(D) Narration

The famous temple ‘Dhari Devi’ is located at—
(A) Near Srinagar  (B) Uttarkashi

(C) Chamoli (D) Pithoragarh
Ge9::7:27
(A) 8 (B) 6
©) 16 (D) 13
. The sum of—
1424 344+5 i+ 100
(A) 5000 (B) 4500
(C) 5050 (D) 4050
93.}.7_2._._..9_}_:
4 17 15
817 717
A) 77020 B) 71020
817 717
"9 7]020 (% 1020

47.

48.

49.

50.

51.

32.

53.

54.

5.

SET-4
T # we%  weledl # faae anw gaw
NG HTE ?
(A) 2199 718 99
(B) i8ad 721 a9
(C) 18 a9 720 9

(D) =99 § &1 T

qiftes Fa7 | g # FEd &

(A) 7Y uftaz (B) sr=afdam

(C) srava=ar (D) T
B F o FHTT AT TE T
(A) TR (B) RETT

(C) feigam (D) T8 ° ®IE 7El
& 3R & a7

(A) & AT (B) o @t
(C) & (D) T ¥ BT 7El

fr=foiaa o & freror @1 94w &1 $9 4§
B

(A) =TT (B) wes
(C) T Tamst (D) aui=

yfrg ‘arir b afer feag -
(A) 7R F 79 (B) St |

(C) Tiet § (D) fomre o
4 +9Q P27
(A) 8 (B) 6
(C) 16 (D) 13
1+2+3+4+5........ + 100 FT IT—
(A) 5000 (B) 4500

(C) 5050 (D) 4050
o2onl 51

4 17 15

A 7 817 7 717
(A) 3 1020 (B) 1020

C 7&1_7- D 8717
© 1020 &5 1020
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62.

8. a__bb__baa__bbb__aa__
(A) aabba (B) bbaab
(C) abaaa (D) baabb
57. AZ,CX,FU,
(A) IR B) IV
© 1Q (D) KP
58. ,PSVYB, EHKNQ, TWZCEF, ILORU
(A) ZCFIL (B) SVYBE
(C) BEHKN (D) ADGIM
Note: Q. Ne. 59 to Q. No. 62 depend upon
the following coding.
Figure * D @ A :?
Code
Figure Q (}; D 72
g. 9.
59. Wthh number is presented by follomng
figure—
G Ree D e
(A) 16198 (B) 79168
(C) 79816 (D) 17968
60. Which number is depicted by the following
figure—
(A) 24672 (B) 46772
(C) 72246 (D) 27462
61. Which number is presented by the following
figure—
(A) 56714 (B) 19844
(C) 56744 (D) 56144

Which number is presented by the following
figure—

AERAX

(A) 47645 (B) 45754

(C) 54674 (D) 74654

SET-A

56. a__bb__baa__bbb__aa__
(A) aabba (B) bbaab
(C) abaaa (D) baabb
57 “ARZICX, FU,
(A) IR (B) Iv
(©) JQ (D) KP
58. ,PSVYB, EHKNQ, TWZCF, ILORU
(A) ZCFIL (B) SVYBE
(C) BEHKN (D) ADGIM
qe : Y E. 59 | 62 Frfafaa gz @ s
WEI

%C,“FDD(@A:?
%Q$ DE

8 9

s&ﬁwrﬁmmﬁ’er@nﬁmﬁmm
%2

G Oon Do

(A) 16198 (B) 79168
(C) 79816 (D) 17968

60. f=rfea T F19 @ "er wefifa e
%7

ODEARD
(A) 24672 (B) 46772
(C) 72246 (D) 27462

61. i & &9 it de wefdfy 2t & -

TREAA

(A) 56714 (B) 19844
(C) 56744 (D) 56144

62. ﬁﬁmﬁmﬁmﬁﬁh@?ﬁ? ?

(A) 47645 (B) 45754
(C) 54674 (D) 74654
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63.

64.

65.

66.

67.

Complete the following Number Series :
e 3 § I o - , 1439

(A) 239 (B) 293

(C) 932 (D) None of these
15,10,5,150,16,12,.4, 192,20, 15,5, ........
(A) 700 (B) 600

(C) 400 (D) 300

2,20, 120, ......., 3190

(A) 220 (B) 330

(C) 440 (D) 630

How many rectangles are there in the
following figure—

[ ]
b}
(A) 9 (B) 10
(C) 16 (D) None of these

Find the missing letter in the following table—

A|CI|E

NIK|H

RIV]|?
(A) Z B) T
(C)L Dy 1

68. Inthe following figure how many triangles are there—

69.

70.

=

(A) 11 (B) 14

(C) 16 (D) 22 or more
IfA=1and AID = 36, then BELL=?
(A) 16690 (B) 2210

(C) 1440 (D) 1210

Who has been appointed as the new Railway
Minister—

(A) Suresh Prabhu

(B) Manohar Parrikar

(C) Bipendra Singh

(D) Jagat Prakash Nadda

63.

64.

65.

66.

67.

68.

69.

70.

10

SE

= de aoh @ g e
1,3,11,47, ......... , 1439
(A) 239 (B) 293
(C) 932 (D) 399 9 FE T
15,10, 5,150, 16,12, 4, 192,20, 15,5, ...
(A) 700 (B) 600
(C) 400 (D) 300
2,20, 120, ........ ,3190
(A) 220 (B) 330
(C) 440 (D) 630
1 g T R o e e B
I |
(A) 9 - (B) 10 ‘
(C) 16 (D) =94 § &% 16
e 3 &1 w2 et g2 50 3R &1 g hifon
AICI|E
N|KiH
RIV]|?
(A) Z BT
({C) L D) 1
& ¢ argfa # Fgsi @ dEn 9 S
N
/
(A) 11 (B) 14
(C) 16 (D) 22 a1 A
afe A=1 3R AID = 36, @ BELL=7?
(A) 16690 (B) 2210
(C) 1440 (D) 1210
W 9= & ' H iR e e

%__

(A) &1 79

(B) HATEY Ui
(C) U= e

(D) ST WEHTST ST
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7)) F— has launched the new Guaranteed
Minimum Pension Scheme in Dehradun.
(A) Menaka Gandhi (B) Smriti Irani
(C) Dharmendra Pradhan (D) None of these

72. The state game of Uttarakhand is—
(A) Cricket (B) Badminton
(C) Hockey (D) None of these

Note : (Q. No. 73 to 77) Choose the correct
figure from A, B, C, D in place of
question mark (?) i.e. make a full series.

7= (CHOIO| 2
]

(C)

Question Figures

Answer Figures

~ |Question Figures

74. LN

Answer Figures

HHE

(A)

75.

(B) (D)

Question Figures

5
-~

Answer Figures

(D)

Question Figures

76. | O

Answer Figures

(D)

77. | D ﬁ Question Figures

UlD A=

€ (O

Answer Figures

SET-A

() PR ¥ Tewgd ® T T AT 4eE
I T AT e
(A) BT AL (B) &fa STl
(C) gd= gum™ (D) 378 | T2 7El
72. TEUEUE F WY €W &I 6
(A) fraz (B) =iz
(C) Bt (D) T8 & #E &
frder : (997 73 & 77 %) WOAE U § 99 &

gﬂﬁ Hﬁﬂf st € 7€ gEen @ qu

73 @ Q <> ? |y sngiaEl
(A) (B) (C) (D)
74 LN (UL U ? | 9 emglaat
]Lﬂ. MLy U | SeR snglaar
(A) (B) (C) (D)
7. N ? | W gt
ST el
(A) (B) (C) (D)
76. | QOO 2 | v s
OO | O|Q | s smji
(A) (B) (C) (D)
7. || Q|4 ? | e agh
D18 |O| 3| s gt
(A) (B) (C) (D)

11
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78.

Match list I to List II—
List I List 1
(Name of MLA) (Constituency)

(a) Dinesh Agrawal (1) Khatima

(b) Subodh Uniyal (2) Dharchula

(c¢) Pushkar Dhami (3) Dharmpur

(d) Harish Rawat  (4) Narendra Nagar

Code—
@ ® © @
(A) 3 4 1 2
B) 1 3 4 2
Cc) 4 3 1 2
D) 4 3 2 1
79. The state animal of Uttarakhand is—

80.

81.

82.

(A) Lion

(B) Cow

(C) Kasturi Mrag
(D) Elephant

Mil Mi-17 is @/an .......... helicopter.
(A) Russian

(B) Indian

(C) American

(D) None of these

The official state second language of
Uttarakhand is—

(A) Hindi

(B) Sanskrit

(C) English

(D) Jaunsari

Who was Tapan Ray Chaudhary ?
(A) Historian
(2) Economist
C) Painter
(D) Actor

78. FHEl 1 & fq@m g 1§ Fifoa—

gl T g
(fremass &1 ) (faam=
(@) feayr srmaT (1) @&
(b) garg SfEE (2) REE
(c) g a1 (3) TqgT
(d) B9 vaa (4) = T
%.._
(a) (b) (©) (
(A 3 4 1
B) 1 3 4
(C) 4 3 1 4
D) 4 3 2 1
79. TUUEE F UL U B—
(A) g%
(B) T
(C) w7
(D) =&

80. UH.IE.UA.TH.IE-17 TF ... TG
(A) &5
(B) ARAE
(C) smRa
(D) 99 | &g T8

81. SHU@Eve &I AfTwmms fEdm U
5
(A) &=
(B) W
(C) st
(D) ST

82. qU TG HrErd B & 7
(A) ZaETaaR
(B) Sreame
(OREEEILS
(D) ST

12
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Note : (Q. No. 83 to 87) Choose the right neat

83.

84.

85.

86.

87.

figure from the answer figure which one
is the next right figure for the question
figure series.

| Question figures :

)

L

milmiizile!

Answer figures :

BIBB

XL

(A) (B) (C) (D)
Question figures :
A =0O|=z0 xjoxOxA =[SE=0

x * = o X

Answer figures :

=0 X|] =O=0X|=0@

[ @ 4 S

(A) (B) (C) (D)
Question figures :
EELE

Lo/l B/l /

Answer figures :

(A) (B) (C) (D)
Question figures :
e 5|

e—
<+« o o_Je
Answer figures :
> 0O > D
>+ O |-+
(A) (B) (C) (D)

Question figures :

Al 4lclald|4]>]alt
S|ClAl=]|=|*x]| A|? QIE

Answer figures :

4lo1?|lal?]lal4]no
Vi+ ++ Oi# lAal#

e

83.

84.

85.

86.

87.

(A) (B)

13

SET-A
(9w ©. 83 ¥ 87 o) Frafaias et uw o
If o o @ A el ok & i U
Sl 7 | B € IR gl % S A
w9 il & el €@ ST =i 7

T SRt

H
H

()

73
H

(D)

(A) (B)

x
o]

X

0

X
ob>
L]
w

x
]

@
)
3|
e
EN

2

1_@_[
&
AR

o

> 0 -

- O
(A) (B)

U9 AT ferdf

Ald [ 4]c|alt]|4]*]alt
S|C | Al= A
EEICARR
4lo|?2]lal?]a|4]o
Vi+ | +]|4 | 0O|# Az

(A) (B)

1]
»

(D)
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88.

89.

90.

91.

92.

93.

94.

Which is the highest peak of Uttarakhand—
(A) Trishul (B) Nanda Devi
(C) Chogori (D) Neelkanth

‘Operation Surya Hope® isrelated to which state—
(A) Uttarakhand (B) Uttar Pradesh
(C) Bihar (D) Tamil Nadu

Who was appointed as a Nodal Officer for
Relief and Rescue operation in Uttarakhand—
(A) V. K. Joshi

(B V. K. Sharma

(C) V. K. Thapliyal

(D) V. K. Duggal

Hon. Govemnor of Uttarakhand is appointed by—
(A) Chief Minister of Uttarakhand

(B) President of India

(C) Prime Minister of India

(D) Home Minister of India

Who led the Chipko Movement—
(A) Gaura Devi

(B) Chandi Prasad Bhatt

(C) Govind Ballabh Pant

(D) None of them

‘Ansuiya Prasad Bahuguna’ is also known
as—

(A) Gandhi of Uttarakhand

(B) Garh Keshari

(C) Vraksh Manav

(D) None of these

Kalsi Inscription is related to—
(A) Emperor Chandra Gupta
(B) Maurya Emperor

(C) Emperor Ashok

(D) None of them

88.

89.

90.

91.

92.

93.

94.

14

TaU@ETE F g9 ST 91 -
(A) Frg= (B) =1 <&t
(C) T (D) ra®vs

‘e gl B fEE wRiw @ gt
(A) STTEE (B) ST e
(C) fasrx (D) aferg

ITEYs # Ted Ud 9919 & & @0
arew st & w9 F fage e W
(A) 91, &. aeft

(B) 9. &, gt

(C) 9. &. gufeam

(D) 91. %. g7

SIETE & . TFII &l B g B
(A) SaT@s & qEHEl &1

(B) TeZafd R

(C) VarHal g

(D) 9Ra & B BN

Frog sem &1 g e -
(A) T &

(B) 91 9HIE W2

(C) M= w14 9=

(D) T | &5 T

AT &

(A) STUEYE % el & A 9
(B) TZd0 & 9 ¥

(C) g8 i a & A |

(D) T § & 7@

el & feeE g gt -

(A) THR TS
(B) |rd |ge
(C) §9e A&
(D) =98 ¥ FE 7E
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95.

Name of Kumaon in Purana’s—
(A) Kedarkhand

(B) Uttarakhand

(C) Uttranchal

(D) Manas Khand

Note : (Q. No. 96 to 100) Read the following

96.

97.

98.

99.

100.

figure and give suitable answer from
given options.

N\
(A«; )17

223 8

/

In figure triangle represents doctor, circle
is represents players and rectangle is
represents artist, then—

30

How many artists and players are doctors—
(A) 6 (B) 8
(C) 4 (D) 3

How many artists are players—
(A) 30 (B) 29
{C) 25 (D) None of these

How many artists are there who are neither
players nor doctors—
(A) 29
(C) 22

(B) 30
(D) 8

How many doctors are there who are neither
player nor artists ?
(A) 17

(C) 8

(B) 30
D) 17

How many players are there who are neither
artist nor doctor—

(A) 22
(©) 25

(B) 4
D) 3

15

9s.

qiE :

96.

97,

98.

29,

100.

SET-A

ot § TS T A S S i
(A) FEEE
(B) TOUE"E
(C) Tavas
(D) HHEETE
(99 €. 96 ¥ 100 G%) ¥&F 999 & fau
it angfa @1 seaaw & 3R 3faa
i LA
o3 4 )1?
2N a /
30
T Brge sfeed &1, gu Rawnfeal
H YT AT HOTER H1 GG FHar
21
(A) 6 (B) 8
©) 4 (D) 3
(A) 30 (B) 29
© 25 (D) % & & T
R AR 48 ¥ S 7 & Rewrd ¥ o A
SFT—
(A) 29 (B) 30
(C) 22 (D) 8
fore ST 00 ¥ o T ) faw € oaR T
HATHR ?
(A) 17 (B) 30
€8 D) 17
ElFei—
(A) 22 (B) 4
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SET-A

- 2 (WEg)
(79 €@ 101 § 200 9F)

101. g9y @i A2 ad= 7
(A) 02 (B) 03
(C) 04 (D) 05

102. FT92 TEHEES qEw (6 7

(A) TaH (B) T91q

(C) =z (D) =gd
103. Fafew qmaEr &1 g 2

(A) ETERT (B) dymarg=

(C) smygamad (D) gmase

104. FFGIE-HEGAT Frd[ah-H @IS 7
(A) 1200-1000 $9. (B) 5000-2500 £.9.
(C) 7000-5000 9. (D) 400-220 4.

105. TFIE & 91 &: A ?

(A) T1g: (B) St
(C) Wfaar (D) g
106. GMaH Fa® & 7
(A) T (B) o
(C) STt (D) g
107. FUHIEE Fiad F: ?
(A) ey (B) wam
(C) Imar (D) ear
108. STIHIEET 9IET & SR
(A) TieeTaEr (B) aferimsmar

(C) dreqer W sm@ (D) fresman

109. FFR sE-faegs: sufHuer-a:—

110. gier-arr-greests wfyares: sufgre:—

(A) stEmNey (B) saamgdaiuieg
(C) usmfag (D) @omfug

111. T foem = & o
(A) e fomr (B) wmeen fyem

(C) Trseesa faren (D) v farem

112. HaE &g fowmm: a2

(A) 04 (B) 08
(C) 10 (D) 03
113, 7% qamfa 2
(A) o= - STRETEI:
(B) a: = T T
(C) s - gt T
(D) To: - EHa:
114. ‘faggany @ s 2
(A) 399 (B) gRyEr
(C) Tefa: (D) T
115. 99 @fg ... u
(A) s&1 (B) &
(C) sq (D) 54
116. T oo A |
(A) @
(B) T
(C) afa
(D) =g

117. ‘JEear-gdgii-gare gt Iash & ot 7
(A) &
(B) T

(C) Tagdr

(D) ymaf

16
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118. SR FHEE aree AT -

(a) FTaT: (1) 3
(b) TR (2) Fmda:
(c) aTas: (3) IMEw:

(d) FoETAE: (4) TrE:
E[z\?..._

(a) (&) (c) (@)
A) 1 2 3 4
(B) 3 ] 4 2
€ 1 2 4 3
D) 2 3 1 4
119. a ﬁl@ﬂ: ?
(A) =9 (B) ¥@
(C) o= (D) %
120. rgwsar -
(A) gHaEH (B) T
(C) T9des (D) Igeaes
121. &l A FOTHRT 9= faua: 7
(A) sTq (B) ga&
(C) wf: (D) Ty
22. ‘AT TR @9 T TYE ?
(A) FaeH (B) 3rgdaes
(C) T (D) T

3. “yftrgaey & ¥ R w6 2
(A) Tgdaq (B) wdaay
(C) qrey, (D) ¥y

eI Ha—
(A) (B) w5 (7g)
(C) zresr (D) &1
T g e —
A) 3t (B) fed
O == (D) siferr:
TresTE sguRT %

) e (B) T
VX gET (D) vafiwaf:

SET-A
127. wiEmEiEEn: 9o & ?

(A) FEH FY (B) EvagoT:

(C) =am (D) faoy
128. & A & 7

(A) TEHR (B) TR

(C) gouiie (D) ST
129. Brponeey efe—

(A) gou (B) ¥

(€)@= (D) wafe:
130, 7 geI W YEAd T a9 —

(A) I8 (B) 9fs

(C) wafer: (D) f:

131. G S WHGAN: e Sae e 2
(A) FoggEEAeE  (B) FoEiug
(C) errdmfmiz (D) yrednfulz

132. SETIR HHe ATqE:—~

(A) SF; ®) 7
(C) svar: (D) 3R

133, SEREE YOl &: 7
(A) TIR: (B) anirz
(C) SiFrEm: (D) ForEuE:

134, ‘THHNT 3 IS yoE s —

(A) ToEamay (B) Udgam:

(C) Hmams: (D) araeafy fos:
135. g0 fe—

(A) TG (B) gferdt

(C) atfi: (D) W&
136. gftra: fafyre weomfg—

(A) Teradr

(B) FwTEsag

(C) sfireastag

(D) wugfEamsEm

17
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137. om: 7 §f<—
(A) TETOTIHIOESTATHRON
(B) SReHEg EBEITaEH R
(C) EUETERASTE @I AT e
(D) EULICFRIS

138. HEEATE SgY S~
(A) STHa: B) &
(C) Fyf: (D) sr=:

139, BT Hiafae: ?
(A) 5 (B) 2
(C) 10 (D) 6

140, ‘=T T AT T & SEAE: 7
(A) TEUTHE: (B) smHaniEg:
(C) fasa: (D) Tfee:

141. siffedrT esFm gfT 8 Hed da—

(a) TiEAEIT (1) Fomedf:
(b) TR (2) S
() ¥few ey (3) HRwER:
(d) drarar ey (4) A
‘@'_,

(@) (b) (© @)
(A) 4 3 2 1
(B) 3 1 2 1
© 3 4 1 2
o 1 2 3 4

142. 39 98 F g9 ? 3T e
(a) T (1) FHf=aT
(b) =g: () TF:
(c) FH: (3) FAETT
(d) 7 (4) THAHD]
@-_V__

(@) (b) (©) d)
(A) 3 1 2 4
B) 1 2 3 4
(C) 4 3 2 1
D) 3 2 1 4

143, THEEN GEEH H5 BT
(A) @, T, Ty, e, o=
(B) o=, wast:, €9, T, T
(C) /e, |y, =, &Y, T@:
(D) ¥, T, T, 9T, W

144, sfyd=y g=me & 2
(A) 31=7g, a1 fefsag (B) Wiy

SET-A

(C) swghrter (D) HeHgf=r]
145, =3 AgEca—

(A) F5 (B) &

(C) wfamess (D) AT
146, Tl arferent fga—

(@) fagamm: (1) sEf=aE:

(b) TV (2) TIETHIE

(c) EaTeT: (3) THETE

(d) TARITEHTERT (4) FfSETaar

aig_
(a) (%) (©) @

(A) 4 3 2 1

B) 1 2 4 3

(C) 4 2 3 ]

D) 1 3 2 4

147. < 3Gq WA ¥4 F 7T ?

(A) T (B) a‘m

(C) aiEd (D) FafaE=
148, TowH @& Y 7

(A) wfFaT

(B) Fissay

(C) wgfaer]

(D) aaftenty
149, RETHTHISTSTH —

(A) T59 ST + 79

(B) w1 sifzamer + g

(C) w9 smafaner + &

(D) T3 FHHl=aT + 99

18
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PRI el 4 ) et

150. Feraran i s qfa-

(A) ST=TE (B) Heaqt

(C) y=amest (D) wrEs
151. ST I QUETEhT Himu:—

(A) gF gHaE: (B) ¥

(C) g¥m: (D) FHHIT GHATT:
152. ‘f’ geniaqumasy SAa—

(A) 2

(B) srEiS=ARE

(C) f& SroTEH 2

(D) FToETe
153. 99 + T =94 T & fafen v

(A) TOT: (B) gRs:

(C) a7 (D) e
154, raee: Al avii—

(A) fersman (B) 2

(C) 3qar (D) I

155, ‘afmy s uew g @ favtE: 2

(A) wa= (B) gt
(C) =gt (D) fasimar
156. ‘Seasaaerr gfa gAor &1 fawfa: 2
(A) g (B) waHm
(C) Teefran (D) wsdt
157, ‘w@mer 2fd gee an—
(A) Tgdi (B) gefran
(C) FwHt (D) wem
38, WP IERe™ §HE: & 7
(A) Tgew ®) a1
(C) 3=dr | D) &z
L ‘SHEY 59T & GHIG: ?
(A) TgEs: (B) wgdifz:
(©) &=z (D) 34T ua:

SET-A
160. ‘GUeET:’ TR Aihs faue:—

(A) FUBHEI HeAF TATEN:

(B) &H FHd

(C) F98 T I |:

(D) F9 T FA °

161. ‘Frifaery 2l waw srdes faue:—
(A) wigar o 2 g
(B) wfegrehr sarg 7 g
(C) wigrr § f7 g
(D) wiférr o 2 g

162. T ey & 3if 7
(A) s (B) TEL
(C) &= (D) FE:

163. THTEI-SET F7 31 7
(A) I (B) &=
(C) waT D) 75

164. AHET-IGHTE FHEAT F Hal ?
(A) 91 A-Fg-HERds
(B) FTa-a+ HEGIH
(C) Jrg-fee-weeds
(D) 1. TengeT-Eia

165. T=irssgavi: &: ?
(A)a
©=

(B) &
(D) =

166. ‘TR TR Wipa-SEE STdTETHiE —
(A) TfE (B) &
(C) wants (D) wifa

167. ¥ Hepaaq SO wmar Sfa—
(A) ggar (B) q&F
(C) st (D) Srer=T

168. Y- TRA -SSR 3fed —
(A) 1000 %. - srEfafy ydwyg
(B) 500 E. - 9000 Z.
(C) 500 %. - 1000 E.
(D) 1500 %. - 500 ¥. 4.

19

03(SANSKRIT)/A



169. &1 &: wawa: ¢ 2 faga—
(@) %= (1) zfaz wfEmw:
(b) @t Bt oRa: (2) wRidi uRar:
GRERILE @) fog
(d) st aRa: (4) T2
@’_
(@
(A) 2

(b)

3

B) 1 2
I

4

o)
"
o~

© 4
(D) 3

R Y

170. Frifaay SR @ dwaa—
(a) TifemTEs (1) 9959
(b) T (2) FHURE
{c) vt (3) &=
(d) TwgEm: (4) Tgafe
He—

(@) (€) (

S

(A)
B)
(©
D)

AW Aoy
| 36 I - S I S . ]
L IR PSRN
R Y

171, FHSTES: 7
(A) T9eT: ofed yafa —
(B) gui &ifa memfa — arRfed 9
(C) Suawef g —
(D) 3w TR 9 — eSO
grafa

{

172. SYFTEET Tk —
(A) gmar:
(B) wiaqes®
(C) vz
(D) Suwrty

173. SRFEquaddr: g sAfe—
(A)
B) fr
(C) 7
(D) feer

SET-A

174. veeg f& weomg—
(A) gieagy
(B) -t
(C) Tgzogm
(D) == | F¢ 78

175. A= qHE et Ra—
(a) f2 (1) smErsanfe
(b) 71 (2) IFrisaTg
(c) Jaem (3) #g
(d) o (4) g w=amEh
%‘_‘.._..
(a)

—
"

a (@
(Ay 1 4
(B) 4
<€ 1
O 3

N S TOR N
SRS

1
3
4

176. w1 g AMeEa 3 R ?
(A) ¥ TR g9 TaE
(B) wmaTETanfe
(C) 3 w=fy
(D) T HeTT:

177. geFAT M —
(A) THugay
(B) Fertrarei-iian
(C) Torgramegey
(D) FREwaq

“famifey ww Mivwreatia 2
(A) T

@) e

(C) waea=

(D) sfet:

179. ‘TaSTaREEy’ R W AR 2
(A) Irduraey
(B) JyrrawE
(C) Tt
(D) Areres

178.

20
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180. STE=AGS: F: 7
(A) FTTH;
(B) afyre:
(C) T8
(D) oA

181. Wy f& 9 9gyisy: ?
(A)rwha“‘m

182, foct e = v v e e S
2

(A) e ' (B) @ ei=

(C) Eraza: (D) gerste
183. famifsari wor A

(@) T sﬁ‘qa (1) “udg Iiay

(b):ﬁergai%ﬁfaﬁa? (2) gmEEY

(¢) S wEE] Fac (3) ArTEmTEa
(d) ®rfl Tl ugafa (4) @EgrEasT
@_

(a) (b) () (d)
(A) 1 2 3 4
B) 2 1 4 3
© 2 1 3 4
D) 2 3 4 1
84. T = W: ¢ 3T dran-
(o) Tw@mERay, (1) 91
(b) g (2) HHT:
(c) TR (3) =R:
(d) g&aay (4) gr=:
@.__
(a) (b) (c) (@
(A) 3 4 ] 2
(B) 1 4 2 3
© 2 3 1 4
(D) 2 3 4 1

SET-A

185. @ @1 ety ¢ f dam—
(@) T, (1) ==
(b) TEFAERGY  (2) WETHEE:
(c) gEafEy (3) Freias
(@) sdalan (4) HHTTH
q;e’_...

() ) (€) (d)
(A) 4 3 2 1
(B) 3 4 1 2
(C) 4 1 2 3
D) 4 2 1 3

186, FTHHIT FTACHAT FAT 265 R
(A) afaers:, sayfa:, SomEe:, Sied:
(B) Fiferara:, wayfa:, <ed:, qrommee:
(C) asrﬁam:, e, qag‘fa:, qUTIES:
(D) Ffeere:, qorage:, Faf:, died:

‘GTEy FHI ggiv HPARN e —
(A) STwEaRg

(B) it

(C) werdraia

(D) Fagd

188, oo, wehig wigaata |
(A) HITER
(B) |E:
(C) 5=
(D) waEEy

187.

189. Safg={1-Uorarel: fare: AR aiee
T TAH Wl 7
(A) ST T=9am
(B) g I
(C) fadid Segam
(D) Y9 Tegard

190. sella wamisay 5 Toam s 2
(A) THTETT
(B) edfae
(C) sdeg
(D) SrarEmd=

21
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191. ‘SAGEREY HI Firia ?

192.

193.

194.

195.

196.

(A) FfeEE
(B) am=er
(C) eie

(D) 9E&TaEH

‘FregerEr @t afted s e e
(A) fasae=

(B) wEaSHH

(C) AF=gee

(D) I

FeraratiareTg TgwEt S W) A R 7
(A) Trafgh:

(B) weaomgfe

(C) Afemgfa:

(D) =S

s fagaag wfae: @eoman w9

(A) 90
(B) 80
(C) 18
(D) 09

Aiieed HaeiasaHr: Hiy W @k ?
(A) 09
(B) 08
(C) 10
(D) 13

FANEY JGH: 99 & 7
(A) =EME

(B) stgHa:

(C) forwma:

(D) =AfraTiam:

199.

22

SET-A

(1) ¥
(2) g

(3) Fom:
(4) U

(A) 1
(B) 1
€ 1
(D) 1

('S TR - -
SO N W
N WS

Higr ghfea: wafa—
(A) SET:

(B) yog

(C) SarETy

D) =

SfgaErErdTEER: FEERdd [@q:

T —
(A) I
(B) &5
(C) wars:
(D) &re:
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